MEADOW MIRROR

Assembly Instructions

URBAN OUTFITTERS

TOOLS REQUIRED BUT NOT INCLUDED:
#2 Phillips head screwdriver
Pencil

WARNINGS:

Do not throw away packing materials and carton until
after assembly. Assemble all parts on a clean smooth
surface

CARE INSTRUCTIONS:

Avoid direct exposure to sunlight.

Do not place overheat or air conditioning vents.

Blot spills do not rub, with a clean white cloth.

Do not use harsh chemicals.

Before cleaning any part test a small spot in a hidden
area.

PARTS INCLUDED

20.5in

A) Screw JP [#8 x

32mm] x2

EXCLUSIVE AND CONFIDENTIAL PROPERTY OF URBAN OUTFITTERS, INC.

C) Mirror
x1

©2017 UQ, Inc. All rights reserved, including all applicable copyright, design and patent rights.
Any unauthorized reproduction, adaptation, distribution or other infringement will be prosecuted.

W77

B) Plastic Anchor
S6 x2

Page 1 of 2


lpurcell
Line

lpurcell
Line


MEADOW MIRROR URBAN OUTFITTERS

Assembly Instructions

STEP 1

Use the measurements in the graphic below to mark the location of the mirror's mounting hardware on your wall.
If you are hanging the mirror on drywall, pre-drill for the wall anchors (B) at the marked locations and then insert
them into the wall. Insert screws (A) into the wall anchors (B) and tighten, leaving about 1/4" of screw extending
out from the wall surface. If drilling into a stud, drill screws (A) directly into the wall at the marked locations,

leaving about 1/4" of screw extending out from the wall surface. Once screws (A) are secured on the wall, hang
the mirror onto the screws.

>)

AN

R

_—

EXCLUSIVE AND CONFIDENTIAL PROPERTY OF URBAN OUTFITTERS, INC.
© 2017 UO, Inc. All rights reserved, including all applicable copyright, design and patent rights.
Any unauthorized reproduction, adaptation, distribution or other infringement will be prosecuted. Page 20f2



	TOOLS REQUIRED BUT NOT INCLUDED:
	PARTS INCLUDED
	STEP 1



